Pedro Henrique Buoro Albertini      03132412

                                    Análise Numérica II – Trabalho 01

Ex1

01: 0.33333333333333326

02: 0.33333333333333304

03: 0.33333333333333215

04: 0.3333333333333286

05: 0.3333333333333144

06: 0.33333333333325754

07: 0.33333333333303017

08: 0.3333333333321207

09: 0.3333333333284827

10: 0.3333333333139308

11: 0.3333333332557231

12: 0.3333333330228925

13: 0.3333333320915699

14: 0.3333333283662796

15: 0.3333333134651184

16: 0.33333325386047363

17: 0.33333301544189453

18: 0.3333320617675781

19: 0.3333282470703125

20: 0.33331298828125

21: 0.333251953125

22: 0.3330078125

23: 0.33203125

24: 0.328125

25: 0.3125

26: 0.25

27: 0.0

28: -1.0

29: -5.0

30: -21.0

31: -85.0

32: -341.0

33: -1365.0

34: -5461.0

35: -21845.0

36: -87381.0

37: -349525.0

38: -1398101.0

39: -5592405.0

40: -2.2369621E7

41: -8.9478485E7

42: -3.57913941E8

43: -1.431655765E9

44: -5.726623061E9

45: -2.2906492245E10

46: -9.1625968981E10

47: -3.66503875925E11

48: -1.466015503701E12

49: -5.864062014805E12

50: -2.3456248059221E13

Ex 2   f1                                          f2
01: 4.999958333472222E-5     
|  4.999958333472222E-5

02: 4.999999995850338E-9     
|  4.999999995833334E-9

03: 4.999999980020986E-13    
|  4.999999999999583E-13

04: 4.9981720151581754E-17   
|  5.0E-17

05: 0.0                      

|  5.0000000000000005E-21

06: 0.0                      

|  5.0E-25

07: 0.0                      

|  5.0E-29

08: 0.0                      

|  4.9999999999999996E-33

09: 0.0                      

|  5.0000000000000005E-37

10: 0.0                      

|  5.000000000000001E-41

11: 0.0                      

|  5.0000000000000004E-45

12: 0.0                      

|  5.0000000000000014E-49

13: 0.0                      

|  5.0E-53

14: 0.0                      

|  4.9999999999999996E-57

15: 0.0                      

|  5.0000000000000005E-61

16: 0.0                      

|  4.999999999999999E-65

17: 0.0                      

|  4.999999999999999E-69

18: 0.0                     

|  4.999999999999999E-73

19: 0.0                      

|  5.0E-77

20: 0.0                      

|  4.999999999999999E-81

21: 0.0                      

|  5.0E-85

22: 0.0                      

|  5.0E-89

23: 0.0                      

|  5.0E-93

24: 0.0                      

|  5.0E-97

25: 0.0                      

|  5.0E-101

26: 0.0                      

|  5.000000000000004E-105

27: 0.0                      

|  5.0E-109

28: 0.0                      

|  5.000000000000003E-113

29: 0.0                      

|  5.0E-117

30: 0.0                      

|  5.0E-121

31: 0.0                      

|  5.000000000000001E-125

32: 0.0                      

|  4.999999999999996E-129

33: 0.0                      

|  5.0E-133

34: 0.0                      

|  5.000000000000001E-137

35: 0.0                      

|  5.0E-141

36: 0.0                      

|  5.0E-145

37: 0.0                     

|  5.0E-149

38: 0.0                      

|  5.0E-153

39: 0.0                      

|  5.0E-157

40: 0.0                      

|  5.0E-161

41: 0.0                      

|  5.0E-165

42: 0.0                      

|  5.0E-169

43: 0.0                      

|  4.999999999999999E-173

44: 0.0                      

|  5.000000000000001E-177

45: 0.0                      

|  5.0E-181

46: 0.0                      

|  4.999999999999996E-185

47: 0.0                      

|  5.0E-189

48: 0.0                      

|  4.999999999999995E-193

49: 0.0                      

|  5.000000000000001E-197

50: 0.0                      

|  5.0E-201
public class Main{     

   public static void main(String args[]) 

   {  

      //EX 1
      double n = 3;

      double x = 1/n;      

      for(int i=1;i<=50;i++)

      {

         x = (n+1)*x -1;

         System.out.println((i<10?"0":"")+i+": "+x);

      }

      //EX 2
      double f1;

      double f2;

      for(int i=1;i<=50;i++)

      {

         double p = Math.pow(10,-i);

         f1 = 1 - Math.cos(p);

         f2 = (Math.sin(p)*Math.sin(p) / (1 + Math.cos(p) ));

         String sf1 = new String((i<10?"0":"")+i+": "+f1);

         while(sf1.length() < 26)

         {

            sf1 = sf1+" ";

         }

         System.out.println(sf1+"   |  "+f2);         

      }

   }

}

